
R
=

3
0
0
m

V
=

4
0
k
m

/h
; 
D

=
0
m

m
; 
I=

6
3
m

m
; 
a
lf
a
s
=

1
0
,7

2
0
7
2
7
; 
L
io

=
5
6
,1

3
4
m

T
=

2
8
,1

4
9
m

109
      J49-1:9-190,P,p,b

108
      J49-1:9-190,L,l,b

105
      J49-1:9-190,P,p,b

106      J49-1:9-190,L,l,b

107      J49-1:9-190,L,p,b

Z
V

1
0
7
 
k
m

 
2
,
8
4
6
 
0
3
2

Z
V

1
0
6
 
k
m

 
2
,
7
7
9
 
9
8
6

Z
V

1
0
9
 
k
m

 
3
,
6
8
5
 
5
7
7

Z
V

1
0
5
 
k
m

 
2
,
7
4
9
 
2
0
7

Z
V

1
0
8
 
k
m

 
3
,
6
5
4
 
7
9
8

4
4
,
5

3
,
7
5
0

4
4
,
5

3
,
7
5
0

4
4
,
5

3
,
7
5
0

4
4
,
5

3
,
7
5
0

4
4
,
5

3
,
7
5
0

BO

BO

BO

BO

BO

KV

KV

KV

KV

KV

KV

KV

KV

KV

KV

ZO

ZO

ZO

KO

KO

KO

KOv

KOv

KOv

KOv

KOv

             R = 190m, α = 6,340192°,

t = 10,523m, Lio = 21,025m, I = 100mm

             R = 190m, α = 6,340192°,

t = 10,523m, Lio = 21,025m, I = 100mm

             R = 190m, α = 6,340192°,

t = 10,523m, Lio = 21,025m, I = 100mm

2
4
,2

3
1

3,640

2
4
,2

3
1

3,640

2
4
,2

3
1

2
4
,2

3
1

15,000

N
1
0
3
 
k
m

 
2
,
8
0
8
 
5
8
4

N
1
0
2
 
k
m

 
2
,
7
9
4
 
6
5
5

N
1
0

4
 
k
m

 
2
,
8
3

9
 
3

6
3

N
1
0

6
=

N
1

0
7
 
k
m

 
3
,
5
9

5
 
4

2
1

N
1
0
8
 
k
m

 
3
,
6
2
6
 
2
0
0

Z
O

 
k
m

 
3
,
7
0
0
 
5
7
7

5
,
0
0
0

5
,
0
0

0

1 V=50km/h, už.dl. 770m

2 V=40km/h, už.dl. 800m

3 V=40km/h, už.dl. 793m

3a V=40km/h, už.dl. 25m

SI - J

KD

Druhý

K137-Katedra železničních staveb

11xA4

1:500

5.1.2018

Jan Šuk

PŘEDÁVACÍ KOLEJIŠTĚ

              SITUACE

Ing. Petr Břešťovský, Ph.D.

Diplomová práce

5.2

N
1
0
5
 
k
m

 
2
,
8
4
1
 
0
3
2

Postoloprty

průmyslová zóna Triangle

V=50km/h

V=40km/h

AutoCAD SHX Text
MĚŘÍTKO

AutoCAD SHX Text
DATUM

AutoCAD SHX Text
FORMÁT

AutoCAD SHX Text
OBOR

AutoCAD SHX Text
KATEDRA

AutoCAD SHX Text
JMÉNO STUDENTA

AutoCAD SHX Text
ROČNÍK

AutoCAD SHX Text
VYUČUJÍCÍ

AutoCAD SHX Text
PŘEDMĚT

AutoCAD SHX Text
Č. VÝKRESU


